Math 231 Homework Project Il: Derivatives:SOLUTION

PROBLEM 12: Let f(fEa y) = ye~ Y Find the direction(s) in which the directional derivative of f at
the point (0,2) has the value 1. Give the direction(or directions) in terms of unit vector(s)
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Reminder: the parametrization of a surface is a mapping X from U C R? to R3. For full
credit you must supply both the equations of X (u,v) =< Xi(u,v), Xa(u,v), Xs(u,v) > and

the domain U from which the point (u,v) are taken. Of course the parameters need not be
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labeled by “u” and “v”. You can use any two appropriate chosen variables.

ProBLEM 13: Find parametrizations for the surfaces described in problems 19, 20 and 21 of section 17.6.

Find the tangent plane at (1,2,-3) for #19. Find the tangent plane aUD,Gﬁffor #20. Find the tangent
plane at (0,1,0) for #21. ( \, O/O)
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PROBLEM 14: Find parametrizations for the surfaces described in problems 22, 23 and 24 of section 17.6.
Find the tangent plane at (0, V2, 1) for #22. Find the tangent plane at (0,0,2) for #23. Find the tangent
plane at (4,0,0) for #24.
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PRoOBLEM 15: Find parametrizations for the surfaces described in problems 25 and 26 of section 17.6.
Find the tangent plane at (3,4,0) for #25. Find the tangent plane at (0,1,3) for #26. -G lERSSRRem:

B oGNS s

JOMMIEEET . Then plot both the surface and tangent plane for each of the problems using

Mathematica. ( this should produce two separate graphs to print out, what is the difference between
the tangent plane and the surface for #26? There is a difference.)
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PROBLEM 16: Calculate the Jacobian matrices for the various functions discussed in E70 on page 310 of

my notes. Work out how the chain rule for the general derivative gives back the chain rules given before

in section 15.5. In other words, work out my example so you can see how the Jacobian matrix
reproduces the chain rules given previously.
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PROBLEM 17: Solve problems 13 and 29 of section 15.7. Back up any claims via appropriate calculus and
theorems from my notes or the text.
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PROBLEM 18: Let s = /x2 + y2 and suppose 5 = tan_l(%). Calculate Vs and V,B Then

calculate unit vectors in the same direction (at an arbitrary point), that is calculate

o 1 ~ 1
Us = =

I‘f will be convemedd dv jnvert tha &%A’P-jﬂ@ﬂf

and @ = o '(94) e X wnd 9.

Lets 6@9&‘«./
fan (B) = Y/x and S¥= X+ y*
= Y = Xﬁn{g
= g% =

%+ X ‘(‘un?“(i

- = Xz(‘-i*‘hnz(?) = X2$ec2§

‘?: s @Sﬁ%nﬂ = tSS/}Jﬁ

I Am/ In ?’7'7//’14/ pa/a/ caorc;//n@g #7/! mweoans
(% 15 mijuj Cﬁunfz’e/c[cc/ﬁwﬂ}e fe[&ffve jz)% X—QxXIr.
\X:: 5695(9

S@ ”}'a L‘Qf = 5sin
T

We choose Hha (4) Solution . (Tfs net ”%//9- pmnea’ deown 59 2/1“\/@1’15‘;,
n’zo\fu o C;];lu /'lere )

s = &), BT = <o, TV =<,

Thee S = <Co:(3, Szh{f‘f> end /175/_ [ <o \{? <C0;@3 S‘D‘)ﬁ>/
Ve =<3 Lm"(%fx . %[M‘( o>

= < 'ax[ﬂ +%/><= 1k > then e fnd

= /s
<o) () ’W) (_x_)> l?@\ /
—

thons

- ‘ X N :
= &, ey \V‘e“< Sw‘?:“‘@’ﬂ

= < “é‘/sz : X/$2> = %’(‘*5{0@,Cv$@>




PROBLEM 19: Show that if f : R* — R? is differentiable everywhere then Vf =< f,, f, > can be
rewritten as

8f,\ 10f .
Vf 83 3+_5/_B‘IB

Here you should use the result of problem 18. The solution will require the use of the chain rule for
several variables and some vector algebra.
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PROBLEM 20: Solve problems 8, 12, 16 and 21 of section 16.3. Motivate any change of integration order
with appropriate graphs.
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